¢ Trigonometric ratios of some specific angles
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‘Sign of trigonometric functions
The following table shows the 51gn of trlgonometrlc

functions in the quadrants
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. sin(- ) =—sin®

‘ tan(—- ) =~ tanB

« cosec(—0)=— cosech

e cos(— 9) cosB

i esec(— 8) secH
. cot(— 8) —cot@

For all real 8 (1) sin?0 + cos?9 =1
(2) 1 +tan’0 = sec’®

@)1+ cotzﬂ = 0036028



4 The behaviour of values of trlgonometnc

ﬁmctmns
Ist quad’rant IInd quadrant |lIrd quadrant IVth quadrant
sin6 | increases |decreases | decreases - | increases
from0to1 |from1to0 |fromOto-1"|from-1to0
cosd | decreases’ [decreases | increases * | increases -
from1t00 from0to-1 | from-1to0-| from0to 1
{tand | increases |increases | increases | increases
: from 0 to oo |from —coto 0 | from0to e | from —oto 0
oot | decreases |decreases | decreases decreases
from'ee to 0 | from 0 to — oo fromootoo | from 0 to —o
secd | increases |increases . | decreases - | decreases
from 10 oo | from=-co fo 1| from —1 to —o| from oo to 1
cosech| decreases |increases | increases | decreases -
fromeo to 1 |from 1toee | from —oo to —1| from —1 to —
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We have, sin’x=1-cos*x=1- e

. [3 43
mx==+.—=t——

Since x is in [IIrd quadrant, sinx is negative.
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2 sinx==,xis1n IInd quadrant.

BECX =

‘ cos?x=1-sin’x=1- 5 _16
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— COSX = :.*:3;

Since x is in IInd quadrant, cosx is negative.
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